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“Ready meals” should be labelled with health warnings in the same way as cigarettes are.
There has been a big rise in the number of ready meals being sold by the supermarkets.
These meals are quick and easy to use, but they tend to have high levels of salt, fat and
preservatives in them, which are not good for our long term health.

‘Which one of the following, if true, would strengthen the above argument?

People buy ready meals because they do not know how to cook.
People who buy ready meals do not have time to cook for themselves.
People who buy ready meals are unaware of their unhealthy properties.
People who buy ready meals tend also to take little exercise.
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People who buy ready meals would not respond to a health warning.
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egetablés per day and reduce our intake
egetablGs are relatively expensive
low incomes will follow this

mv@l\eauh of the nation, it will have to

Nutritionists say that we should &
of fat to help prevent major i
compared to fatty foods, it is
advice. If the government really wants
consider taxing foods which are high in at

Which of the following, if true, would @&ngmhcn the argument in the passage above?

Many people prefer cating fanmds to fruit and vegetables.
Advertisers tend to focus on promoting fatty foods.
Levels of smoking have reduced in response to higher prices.

It is difficult to persuade children of the health benefits of eating less fat.
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Governments tend to take measures which have short term results.
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A survey of the behaviour of dogs in Vancouver over several months in 2001 revealed a
surprising finding. On 27 February, the day before a major earthquake with an epicentre
240 kilometres south of the city, almost 50 % of the dogs were observed to be much more
active and anxious than usual. The probability of this happening by chance was 1 in 1000,
so it is likely that it was connected in some way with the earthquake. Suggested
explanations have been that dogs were !sspondmg to electromagnetic changes or to the

release of But given what we know
about dogs’ hearing Sbilies, the most Ilkely explanallon is that dogs can hear sounds from
rocks scraping or breaking before an

Wnich one of the folowng, i tre, gives support to the explanation offered in the above
passage?

A Many dogs that had a hearing impairment did not show an increase in anxiety on 27
February 2001.

B Seismic waves at very high frequencies are usually detectable only up to 100 metres
from their source.

C  The observation and recording of the dogs’ behaviour was done by the dogs’ owners.

D Monitoring of earthquake

calls for the harshest possible sentence. Almos|
the term ‘Devil Child’. This shows that the n: lone had influenced public opinion and
prevented members of the public having s y for the child.

g
sent to newspapers and comments posted on mé

Which one of the following statements . would strengthen the argument above?

1 The newspaper that used the term ‘Devil Child' reported the case and the child's

upbringing accurately.

2 The editors of the newspaper that used the term ‘Devil Child also called for the
harshest possible punishment.

3 The newspaper that used the term ‘Devil Child had also continually referred to
his victims as ‘innocent’ and ‘defenceless’.
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The ability to use language (to communicate using symbols and words to represent objects,
feelings and thoughts) separates humans from all other animals on earth. By the age of 18,
humans know more than 60,000 words, which is a surprising figure when you consider the
monosyllabic vocabulary used by most teenagers. From the age of six months babies begin to
recognise their own language. There are genetic reasons why this form of communication is
unique to humans. Humans and chimps actually share 99% of their DNA, but in 2006 researchers
comparing the two species found a gene, HAR1, that makes us dramatically different. It is
expressed in the human cerebral cortex, a part of the brain that is particularly associated with
language.

Which one of the following pieces of evidence would strengthen the hypothesis that HAR1
explains the human language ability?

A A chimpanzee gene is found to be 98% identical to HAR1.

B Ahuman genetic disorder (of specific language impairment) is found to be caused by a
mutation in HAR1

c HAR1 is found to be expressed in parts of the human brain that are not related to

‘communication.

D HART is expressed in the brain before birth.

E Some chimps can be ta nicate with symbols.
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ater cannons'against rioters and rules about
s s an efféctive means of dispersal in some
an eithér incontrolled rioting or other methods
or cities last yéar, police wasted valuable time
wailing for overalldivectio from politiians who lgeNl inaparopriate use of water cannons
might antagonise the general public. Clear guidelines could be agreed about using water
cannons, for example to deal with rioters who'throw missiles and petrol bombs and also where
fire and ambulance crews are under threat.

Police should be given clear pei
when it is appropriate. Police.

Which of the following, if true, would most strengthen the argument in the passage above?

A Using water cannons would negatively affect the innocent as well as the guity.

B Using water cannons does not require special training and resources.

c Water cannons are no more effective at dispersing rioters than tear gas o rubber
bullets.

D Water cannons cost more than £1m each and need to be deployed in pairs.

£ A survey of 2000 people carried out recently indicated strong public support for water
cannons.
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Alcohol is relatively cheap, widely available and addictive. It is now the world's third biggest cause of
illness and premature death, behind smoking and high blood pressure. According to the World
Health Organization (WHOY's figures, harmful drinking kills 2.5 million people annually, about twice
as many as die in road accidents. To reduce the harm caused by alcohol, itis vital to reduce
consumption, which is roughly the same worldwide as it was twenty years ago. Governments
should follow the WHO's advice on how to treat humanity's collective drink problem, i.e. make
alcohol more expensive with a minimum price per unit, and make it less appealing by banning
advertising. The alcohol industry, of course, suggests a different approach — encouraging
‘responsible drinking’, targeting problem drinkers and persuading alcohol companies not to aim
their advertising at children.

Which one of the following, if true, most strengthens the above argument?

>

In the UK the heaviest drinking 10% of the population consumes 45% of the alcohol sold.

In Scotland consumption of alcohol has doubled over the past five decades as prices have
fallen.

€ Aminimum price per unit of alcohol would penalise less wealthy people who do not drink
heaviy.

D Some alcohol producers inve; Vertising.
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Next time you feel the flu com d thinkwice before reaching for
painkillers because they could d ore thangood by increasing the transmission
of flu. Obviously painkillers can make you feel fetter by reducing muscle pains and
headaches, but they also lower fever. Fever{sithought to be an antiviral weapon,
because many viruses find it hard to replicate at temperatures higher than the normal
human body temperature. Some studiesjhave shown that lowering fever can prolong
viral infections and increase the aiount of the virus that can be passed on to others.

Which one of the following, if true, strengthens the above argument?

A Overuse of painkillers can reduce their effectiveness in curing headaches.

B Taking painkillers increases the likelihood that flu sufferers will return to work
while still infectious.

c The studies of the effect of lowering fever were carried out on animals, not
humans.

D The most effective defence against flu is an annual anti-flu injection.

E People are more likely to take an accidental overdose of painkillers when

they have a virus.
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but this phenomenon is still not fully understood. One theory is that changing levels of
hormones act on the brain to heighten an evolutionary adaptive response that helps
prevent women from consuming substances that may be harmful. Although less
important in the developed world, in the past this would have helped to protect a foetus
during the first three months of pregnancy when it is at the most vulnerable stage of
development. If the mother eats less, and sticks to simple foods, she is less likely to
accidentally ingest something dangerous.

° Half a million pregnant women are troubled by morning sickness each year in the UK,

Which of the following would strengthen the theory presented in the above argument?
1 Mormning sickness symptoms normally decline after the third month of
pregnancy.
2 Pregnant women sometimes have strange food cravings.
3 Women with morning sickness tend to eat less and opt for very simple
and bland food
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Accident and Emergency (A&E) units have too many patients and not enough
permanent staff to treat them. Working in A&E is not attractive to doctors: the
environment is frenzied and the working hours are unsociable. For these reasons,
newly qualified doctors tend to choose other specialisms. With too few permanent
staff, hospitals are spending extremely large sums of money on temporary staff from
agencies. One solution is to pay higher wages to permanent A&E doctors to provide
an incentive to choose that specialism. The cost to the health service would be no
greater — and could be less — as there would be no need to pay agency staff. We
should make A&E more attractive to newly qualified doctors by providing financial
incentives.

Which one of the following, if true, most strengthens the above argument?

A Financial reward is not the most important motivator for doctors.
B The fast pace of A&E work is too demanding for some doctors.
c Campaigns to reduce the number of people using A&E services have been
effective.
D Some doctors choo86 o wo encies in A&E to supplement their
salaries. \
\
E Permanent staf N provide a-by qer tandard of eare than temporary staff.
]
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Over-prescription of antibiotics by doctors who resgond to patients’ demands has raised the
drug resistance of harmful bacteria. Drug-resistat bacteria can make routine surgery and
minor cuts fatal if infections take hold. We could introduce penalties for doctors who
over-prescribe, but this would not be enought Given the scale and escalation of antibiotic
resistance, we need to discover a newrclass of antibiotics. In the past, pharmaceutical
companies have not regarded reseafch.on antibiotics as potentially profitable. Governments
should give financial incentives to the/pharmaceutical industry to intensify work on finding new
classes of antibiotics which could be kept in reserve for emergencies such as a global
epidemic. This would make it more atiractive for pharmaceutical companies to carry out the
necessary research.

Which one of the following, if true, most strengthens the above argument?

A Governments will not allow routine sales of a new antibiotic, except in an emergency.

B In some countries antibiotics can be bought without a prescription from a doctor.

C  Antibiotics are useless against viruses and often unnecessary against mild bacterial
infections

D Use of antibiotics in livestock production has increased bacterial resistance to several

BMAT Q17 (2016)

antibiotics.



http://www.medicmind.co.uk

BMAT Section 1: Critical Thinking

‘ Strengthening Quesﬂori)

While well-intentioned, the campaign to ban tackling in school rugby constitutes an
overreaction. Such a ban could lead to unintended negative consequences for the young
people involved in the sport, and it must not be implemented. Many parents and others are very
concerned about the potential for rugby tackling to cause head and spinal cord injuries.
However, the possibility of injury is present in any sport, and the health risks associated with
physical inactivity are widely understood. Also, as is the case with boxing or any other contact
sport, full-contact rugby enables players to channel aggression in a positive, controlled way. It
is surely better to let young people show aggression through rugby than to wait for violent
behaviour to happen impulsively.

Which of the following, if true, would strengthen the above argument?

1 Itis unfeasible for schools to replace rugby with other activities that can channel
aggression in a controlled manner.

2 Aggression is a natural o unavoidable feature of many young people’s behaviour.

3 Itisimpossible to sustain head or spinal cord injuries in other sports played at
schools.
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Itis known that one of the factors that can promote better health in infants is the good health of
the mother. What is less well-known is that there are real dangers presented by bottle-feeding,
a practice that has become very popular in developing countries. Firstly, formula milk lacks the
protective properties (antibodies, enzymes, long chain fatty acids and hormones) of breast milk.
Secondly, there is the danger of contamination in situations where hygiene is poorly
understood or difficult to achieve. Thirdly, formula milk may be over-diluted as a way of saving
on cost.

Companies selling formula milk have led aggressive advertising campaigns to promote
bottle-feeding; as a result, many n the world have i limits on
or banned such marketing. More acton s urgently needed throughou the developing world 1
we are to help women and avoid infant il health and mortality. One estimate put the number of
infant deaths in the developing world caused by bottle-feeding at 13% of all deaths.

Which one of the following, if true, most strengthens the above argument?

A Breastfeeding is most common in the world among better-educated women.

B Women in developing countries often choose bottle-feeding as it is easier to combine with
returning to work.

C C: i to limit the omotion of bottle-feeding are becoming more
widespread. -
D Breastfeeding has health benefits for the er as well as for the child.

) |
The rise of the internet-connected sma and. /ln{ular defices poses a risk to the ties that
bind us together within society. It is {rue thatfor many people, these devices provide ready
access to a wealth of information and help them tomaintain existing interpersonal relationships
and to develop new ones. Yet the devices can alsa/act as a significant obstacle within one of
the most important relationships of all: that betwéBn a young chid and his or her caregivers.
With many users of smartphones checking.thém Hundreds of imes a day, psychologists are
increasingly worried about the potential ‘éybér-ffect of parents and others shifting more of
their attention away from the young childfenaround them. Eye contact and other features of
face-to-face 'real world' interaction are essential for the social and emotional development of
young children.

Which one of the following, i true, most strengthens the above argument?

A In previous generations, families across the world tended to have larger numbers of
children.

B Internet-connected devices help some people who find face-to-face interactions difficult
cope better with day-to-day life.

€ More young children are now being entertained with videos and other content on
smartphones rather than being encouraged to interact with people around them.

D Ina hundred years or so, many households in both poor and rich countries will own robots
that are capable of interacting with us as if they were human.
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